



St. Louis County, Minnesota

Date of Report: 9/20/2025 6:38:46 PM

General Details

 Parcel ID:
 280-0010-00202

 Document:
 Abstract - 758512

 Document Date:
 07/27/1999

Legal Description Details

Plat Name: CANOSIA

Section Township Range Lot Block

1 51 15

Description: N1/2 OF N1/2 OF SE1/4 EX W1/2 OF W1/2 OF NW1/4 OF SE1/4

Taxpayer Details

Taxpayer NameKARO SHIRLEYand Address:5785 TOWNLINE RDDULUTH MN 55803

Owner Details

Owner Name KARO SHIRLEY

Payable 2025 Tax Summary

2025 - Net Tax \$2,777.00

2025 - Special Assessments \$29.00

2025 - Total Tax & Special Assessments \$2,806.00

Current Tax Due (as of 9/19/2025)

Due May 15		Due October 15		Total Due			
2025 - 1st Half Tax	\$1,403.00	2025 - 2nd Half Tax	\$1,403.00	2025 - 1st Half Tax Due	\$0.00		
2025 - 1st Half Tax Paid	\$1,403.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$1,403.00		
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$1,403.00	2025 - Total Due	\$1,403.00		

Parcel Details

Property Address: 5785 TOWN LINE RD, DULUTH MN

School District: 700
Tax Increment District: -

Property/Homesteader: KARO, SHIRLEY A

Assessment Details (2025 Payable 2026)									
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
201	1 - Owner Homestead (100.00% total)	\$134,400	\$126,000	\$260,400	\$0	\$0	-		
111	0 - Non Homestead	\$65,700	\$0	\$65,700	\$0	\$0	-		
	Total:	\$200,100	\$126,000	\$326,100	\$0	\$0	3030		





St. Louis County, Minnesota

Date of Report: 9/20/2025 6:38:46 PM

Land Details

 Deeded Acres:
 35.00

 Waterfront:

 Water Front Feet:
 0.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

0.00										
0.00										
ot guaranteed to be s	survey quality. A	Additional lot in	nformation can be	e found at						
gov/webPlatsIframe/I					ax@stlouiscountymn.gov.					
Improvement 1 Details (HOUSE)										
		Main Floor Ft ² Gross Area Ft ²		Basement Finish	Style Code & Desc.					
1999	1,29	1,296 1,296			DBL - DBL WIDE					
Story	Width	Length	Area	Foundati	on					
1	27	48	1,296	-						
1	8	10	80	POST ON GR	OUND					
1	12	18	216	POST ON GR	OUND					
Bedroom Co	unt	Room Co	ount	Fireplace Count	HVAC					
3 BEDROOM	MS	-		-	CENTRAL, GAS					
Improvement 2 Details (STABLES)										
Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.					
1999	2,29	95	2,295	-	-					
Story	Width	Length	Area	Foundation						
1	9	45	405	POST ON GROUND						
1	12	45	540	POST ON GR	OUND					
1	30	45	1,350	POST ON GR	OUND					
	Improvem	ent 3 Deta	ils (REC ROC	DM)						
Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.					
1930	37-	4	374	-	-					
Story	Width	Length	Area	Foundati	on					
1	17	22	374	FLOATING	SLAB					
	Improve	ment 4 Det	tails (10X9 S1	Γ)						
Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.					
0	90)	90	-	- -					
Story	Width	Length	Area	Foundation						
1	10	9	90	POST ON GROUND						
Improvement 5 Details (LOAFING)										
Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.					
0	14	0	140							
01	VA71-141-	1	A	Foundation						
Story	Width	Length	Area	Foundati	on					
	O.00 of guaranteed to be spov/webPlatsIframe/ Year Built 1999 Story 1 1 Bedroom Co 3 BEDROOF Year Built 1999 Story 1 1 1 Year Built 1930 Story 1 Year Built 0 Story 1 Year Built 0 Story 1	Story Width 1 12	o.00 It guaranteed to be survey quality. Additional lot it gov/webPlatsIframe/frmPlatStatPopUp.aspx. If the Improvement 1 De Year Built Main Floor Ft 2 O 1,296 Story Width Length 1 27 48 10 1 12 18 Bedroom Count Room Co 3 BEDROOMS Improvement 2 Deta 1,295 Story Width Length 1 9 45 1 12 45 1 30 45 Improvement 3 Deta 1 12 45 1 30 45 Improvement 4 Deta 1 17 22 Improvement 4 Deta 1 17 22 Improvement 4 Deta 1 10 9 Story Width Length 1 17 22 Improvement 4 Deta 1 10 9 Improvement 5 Deta 1 10 9	Story Width Length Area	Improvement 2 Details (STABLES) Story Width Length Area Foundation 1999 2,295 2,295 2,295 1 10 10 10 10 10 10 10					





St. Louis County, Minnesota

Date of Report: 9/20/2025 6:38:46 PM

		Improve	ment 6 Details	(8X10 ST)						
Improvement Typ	e Year Built	•	Main Floor Ft ² Gross Area Ft ² Basement Finish Style C			tyle C	ode & Desc.			
STORAGE BUILDING 0		80)	80						
Segme	nt Stor	y Width	Length	Area	Foundation					
BAS	1	8	10	80	FLOATING	G SLAB				
Improvement 7 Details (SEMI ST)										
Improvement Type Year Built Main Floor Ft ² Gross Area Ft ² Basement Finish Style Code & Desc.										
STORAGE BUILDIN	NG 0	16	160 160 -				-			
Segme	nt Stor	y Width	Width Length A		Foundation					
BAS	1	8	20	160	POST ON (GROUN	D			
	:	Sales Reported	to the St. Lou	is County Audi	tor					
Sa	le Date		Purchase Price		CR	V Num	ber			
0	7/1999		\$35,000			129009				
		As	ssessment His	tory						
Year	Class Code (Legend)	Land EMV	Bldg EMV	Total EMV	Def Land EMV	BI	ef dg /IV	Net Tax Capacity		
	201	\$132,000	\$122,200	\$254,200	\$0	\$	0	-		
2024 Payable 2025	111	\$64,400	\$0	\$64,400	\$0	\$	0	-		
	Total	\$196,400	\$122,200	\$318,600	\$0	\$	0	2,949.00		
	201	\$120,000	\$122,200	\$242,200	\$0	\$	0	-		
2023 Payable 2024	111	\$58,200	\$0	\$58,200	\$0	\$	0	-		
	Total	\$178,200	\$122,200	\$300,400	\$0	\$	0	2,850.00		
	201	\$114,400	\$104,200	\$218,600	\$0	\$	0	-		
2022 Payable 2023	111	\$55,300	\$0	\$55,300	\$0	\$	0	-		
	Total	\$169,700	\$104,200	\$273,900	\$0	\$	0	2,563.00		
2021 Payable 2022	201	\$59,400	\$86,900	\$146,300	\$0	\$	0	-		
	yable 2022 111	\$65,800	\$0	\$65,800	\$0	\$	0	-		
	Total	\$125,200	\$86,900	\$212,100	\$0	\$	0	1,880.00		
		7	ax Detail Hist	ory						
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Land	Taxable Bui MV MV	lding	Total	l Taxable MV		
2024	\$2,735.00	\$25.00	\$2,760.00	\$170,549	\$114,40	\$114,409 \$2		\$284,958		
2023	\$2,661.00	\$25.00	\$2,686.00	\$160,507	\$95,827	7	\$256,334			
2022	\$2,147.00	\$25.00	\$2,172.00	\$115,426	\$72,601		(\$188,027		





St. Louis County, Minnesota

Date of Report: 9/20/2025 6:38:46 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.